o
M
&
0o
a0

V2 T AR EF TN R B B AR IR R E W E TR (2 5)




YRk 2 THEE BT SR RS E M IE TR G2 5)

YRk 2 TR AT O ERRE I SF R EM E TR (B 25) 13, RICEDD &AL D,

(NP RO IE)
1L BABHTEORBEICEAREENZENE 1, 06 3 TFTHZEML, RARKH THEOBREZEARK T ZNEN

3, 330, 319TH&ET D,
2 WA TEOMIEDKED X 5y K UYL 5y Z & OSFRIT NI ER O N PROSEIT, 15 1R AR THEAMIE
(& D,

TRz 749 A 1 A

AR O B R



1R AR TR

o A (HAL 1)
K H HHERTOEHR FERE il

3. EE 4 601, 173 467 601, 640

ES)E R=iE R 567,613 302 567,915

[ B A B 4 33, 560 165 33,725

4. XIS 880, 942 423 881, 365

By S U R 880, 942 423 881, 365

5. R4 468, 203 271 468, 474

HEHe 451, 424 189 451, 613

WA HBh 4 16, 779 82 16, 861

A YN 549, 210 776 549, 986

— X EHER A 461, 279 272 461, 551

AL 87, 931 504 88, 435

9. e 1 49, 126 49, 127

i o 1 49, 126 49, 127

#ioE S nvo o o &OE I R B 779, 7127 0 779, 727

7% A & il 3,279, 256 51,063 3, 330, 319




o (Hhr FH)
K H I IERTO%A HTEAE &t

2. PrBRAa(T & 3, 135, 495 1,512 3, 137, 007

2. NMETIHY— B REFEE 161, 200 1,512 162, 712

4. MOEOCBE g e 89, 986 425 90, 411

2. CIFEWISEREE - (EEFEER 79, 188 425 79,613

6. FEX e 804 49, 126 49, 930

1. fEES L NEMINE S 802 37,961 38, 763

3. —R=EHRHA 1 11, 165 11, 166

T SUN U 4 VR S NS S R G N N = S R | 52,971 0 52,971

7% i & il 3, 279, 256 51,063 3, 330, 319




ek AT HH T SRLAR T ST A

1. #& 45
B A (Hific )
% AT % AR 2 s
L. PrREE 779, 610 0 779,610 | 23.4
2. e K OAEHEE 70 0 70 0.0
3. [EES 4 601, 173 467 601,640 | 18.1
4. IR 880, 942 423 881,365 | 26.4
5. WRIH4 468, 203 271 468,474 | 14.1
6. MPEIA 35 0 35 0.0
7. KA 549, 210 776 549,986 | 16.5
8. REILA 12 0 12 0.0
9. ke 1 49, 126 49, 127 1.5
ik A =N 3, 279, 256 51,063 3,330,319 | 100.0




o (HAL 1)
T IE4H O AR R
# WIENORE | IER 7t e Cww g Eﬁﬁ?}i
ERZHe | 5 E| 2 o fl

1. REE 47,933 0 47,933 1.4
2. PrBRAGHT 3, 135, 495 1,512 3,137,007 491 1,021 94. 2
3. WMErzE b AL & 1 0 1 0.0
4. HUSCCER S EE 89, 986 425 90, 411 247 178 2.7
5. MM ie 37 0 37 0.0
6. a3 HIA 804 49, 126 49, 930 49, 126 1.5
7. TiEE 5, 000 0 5, 000 0.2
553 sl a &t 3, 279, 256 51,063 | 3,330,319 738 1, 199 49,126 | 100.0




2. % A

() 3. [EEX N4 (IH) ES)ERskiEl (BAr TH)
g WEROB | W 2 s = 7
L I iEfa A e 567, 613 302 567,915 | 1. BIAEEE )y 302 | - BUFFESy 302
it 567,613 302 567, 915
(k) 3. [EE S 4 (TH) 2. [EFEMB)4
3. MBS R R A A4 30, 877 165 31,042 | 1. BUERESy 165 | - BUFESy 165
CREATISBE " =
LR
g 33, 560 165 33,725
() A I FEESR 4 (TH) 1. A4
I LR SN 877, 939 423 878,362 | 1. By 423 | - BAEFESY 423
il 880, 942 423 881, 365
() 5. B3 (1H) VB4
L AT a4 451, 424 189 451,613 1. BUFERE Sy 189 | - B4Ry 189
2t 451, 424 189 451, 613
() 5. B EH4e (TH) 2. BAHiBh4
2. WSS B 223 A4 15, 438 82 15,520 | 1. BU4ERESy 82 | - BIAFFESy 82
CREATISBE " =
EEFH)
it 16, 779 82 16, 861
() 7. KA () 1. SRS
L AT B N 391, 937 189 392, 126 | 1. BAEE Sy 189 | - BUFESy 189
3. Ml S PR AR A 15, 439 83 15,522 | 1. BUAEEE Sy 83 | - By 83
(I FER) S -
(A==
it 461, 279 272 461, 551




() 7. 8L () 2. EemAS (BT FH)
- RN Pre Pre % /Erlﬁ 2\
H %ﬁIE HjODZA *ﬁ S| [ X N % %E G IS
L. TR e S Y S 87,931 504 88, 435 | 1. ST rtAA T2 S5 Y 504 | - SRR E S YE LA A4S 504
YN Py JA
Z 87,931 504 88, 435
G 9. a4 (IE) 1. ks
1. i 4 1 49, 126 49,127 | 1. i s> 49,126 | - k4 49, 126
i 1 49, 126 49, 127




3.
)

() 2. (REFATE () 2. TR — v R SR (BEpr FH)
iE B o M R N R i
H FIERTO%E | 1E % B ¥oo®E MK - % 4 & B !
ERZME | # 5 EF 2 o fi] M &
5. s 269 1,512 1,781 491 1,021 19. FfH 4 1,512
AT 491 1,021 HliBh K 1) HUSEE AR T 5 — B R fa
Bior—e ORAt FHZ BT 2 1,512
S SRR 4 19. BHEMB) L OE AT 1,512
- HUE AT T — e X
faft# 1,512
At 161, 200 1,512 162, 712 491 1,021
() A M PR (FH) 2. clER) SRR - AR ER
1. EFER 57,223 A214 57, 009 A126 A\88 2. fekt A153
Rt A126 /88 3. AT A103 | D) — kB AEE A214
g 2. fekt A153
4. ekt 42 -BE 4 A A153
B FYE A103
1= A103
4. S 42
- kB 42
2AEEEE 21, 965 639 22, 604 373 266 20. PRBhE 639
2 373 266 3) BRAE 1% B E I S g3 2 2
T LR 639
20. $RBhE 639
« IR NSRRI B Ak 639
i 79, 188 425 79, 613 247 178
(&) 6. 74 (H) 1 EES R ORI INE A
2. B3R A 1 37, 961 37, 962 37,961 [23. (Ei&E4 37, 961
37,961 |  Flt & 1) Gf SN B 5 i 37,961
(O] 23, BRI K OES | B 37,961
s - B EIRKIR A 37, 961
i 802 37,961 38, 763 37,961




) 6. G A (TH) 3. — it 4 (Hhr FH)
OoE % o MO W R fi
H HMiERTOFE | i E %A S BoE MR — ‘& % 5 | & B !
ERSHe | # F E| 2 o ] M R
1 — a5t 1 11, 165 11, 166 11, 165 28. #aH4 11, 165
o 4 11, 165 1) — R EEt~ ORI EE T 5k 11, 165
28. fH4: 11, 165
- —EER 11, 165

i 1 11, 165 11, 166 11, 165




WNEEHMESE

1. — ek
(1) #a4h
o 52
X5y ik B 5 M Fek kB 455 7t ey G i
(N\) (FM) (FM) (FM) (FM) (FM) (FM)
I IE 4 15,110 10,905 26,015 4,386 30,401
i IE AT 4 15,263 11,008 26,271 4,344 30,615
Hrg 0 A 153 A 103 A 256 42 A 214
%y TEFY Hid 24 FEFY HE)TY FRgREN S Y |REMANENES 4| B BB RRR )
(M) (M) (FM) (FM) (FM) (FM)| BFEH4 (FH)
BT YEONGR | fiiEk 78 912 240 399 694
HHIE R 78 921 240 398 878
Heg 0 A9 0 1 A 184
%y REHEHFY | EEBTY HIRTY BTy [RETEYAEe i
(M) (M) (FM) (FM) (F+M)
% B F Y4 E DGR fHIE % 90 3,591 2,301 2,600
HHIE AT 128 3,627 2,138 2,600
g A 38 A 36 163 0

_10_




(2) fakh & O A T34 55 O H R O B

_11_

X5 HERRA HEJRCE H BTN AR A s
FM) (M) M)
Fa A 153 Z DD WSy A 153[#68 A 153
kB 24 5% A 103| DOy A\ 103 Hidsk 24 A9
HEFY 1
IRe A 8% 24 A 184
RHEBFY A 38
HWIRFY A 36
BihFY 163
(3) Fa Bt K O B 2 X DR
7. BB 1 ANST0RE
X55 — AT B =315
EREEEA g () 294,400 375,900
ERk2THT A1 R EBALE (a5 A% (F) 337,930 432,248
s (%) 415% 28 587
EEREEEA B8R () 292,200 375,900
ERk2T1A 1R EAE (a5 A% (F) 318,595 405,554
EEJFE (%) 415% 1A 5TH%




A BRI B 2

— AT B = PNk (2)
X7y it BB | MRktt )4 B8 | Makitt
(N) (%) (N) (%)
1% 1tk
2% 2%
3tk 2 66.7| 3%k
45k 1 33.3|  4#k 1 100.0
ERR2THET H 1 B BLE 5k
61k
7%
8tk
i 3 100.0 g 1 100.0
1% 1tk
2% 2
3tk 2 66.7|  3#k
45k 1 33.3|  4#k 1 100.0
PRR27THE1 A 1 H BUE 5k
61k
7%
8tk
i 3 100.0 7 1 100.0
(B DEEVER 72 IS N AY)
X7y 1% 2tk 3tk 45k 5#%k 6% Ttk 8tk
— AT Bk FFH FE | FEEE | EE T4 [FUESt N E Al SEY PR U (s
= (2) PROERT | PREERT | ATLRARAD| AR AT

_12_




i

“
>

JiN=]

_13_

ES)

RFAY7 2N

AT BTk

=Nk (2)

EnE

Tk B4k

(A)CAN)

S ([ CHRDIR B2

(B)CA)

=pS

—

N

=&

\G]

(N

w

=&

N

iR BN ER

(N

=S

@]

(N

»

(N

~

N
Q| Qo | af [ [ Sz | Qn | o
SIES|BSES 35 [ES |2

[0¢)

fa ()

ke (B)/(A)

(%)

100.0

100.0

[

kB2

(A)CAN)

=

F AR DI B L

(B)CA)

=&

—

(N

=S

\G]

N

iR O ER

w

=&

N

(N

)

=&

N

0 IS
Qo | 9o | gp Q[ afr | o
= EN E E E B

=S

(N

ek (B)/(A)

~

%)

100.0

100.0

100.0




T TEAE IR B OV B IR AR D AR, T

TEAE TR
AR 25.55625 34.5825 49.59 49.59 Tk Re o) i SERN2THET A 1 B ERAE
2%~20%
[ D] TEAE AT R
(%«Az;i) 25.55625 34.5825 49.59 49.59 TekE e 4 SERR2TAET A 1 B BALE
k=] j*—j‘: 3%,\/45%

_14_




